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public class Location

{ /xx dQXt: =785t */

private double latitude;

private double longitude;;

public void setLatitudé(double lat) {
if (lat < =90 || lat > 90) {
System.out.println(”“Illegal value of latitude!”);

}

{ this.latitude = lat; }

}
N —————————————————————————————————————
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Current balance = $50.50
Withdrawal of $ 30.33
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/
/** printPolarity: 27} QX LelX| &
Ol */

* @param i -

public void printPolarity(int i)
{

System.out.print ("¢l " + i + "= ");
if (i <0)
IIOAII)

System.out.print ("=

4

else

IIOI:A n ) :

System.out.print(

System.out.println("&LICt.");
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/,import javax.swing.*;

/** ConvertHours: AlE =2 Hat

* g U=

* £ U8 AE =E Hgtel & */

[—

public class ConvertHour
{
public static void main(String[] args) {
String s = JOptionPane.showInputDialog("AlE LEGIML:");
int hours = Integer.parselnt(s);
if C hours >= 0 ) {
// A7 Z=0[7| W20 =& ALkt £ QUCt.
int seconds = hours * 60 * 60;
JOptionPane.showMessageDialog(null, hours + " A[ZF2 " +
seconds + " =QLICI.");

}

else {
// A7t &=0[7] WZ0| 2FO|Ct.
JOptionPane.showMessageDialog(null,
"ConvertHours error: negative input

+ hours);
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import javax.swing.¥*;

String s = JOptionPane.showInputDialog (“HIA|X|");
\. y

O newsS AIBoHM XS dde 271 BTt

Ct.
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O JOptionPane 7| 2= &= Ctaf
O AKX H= RS

O UHAZ BN
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import javax.swing.*;

/*¥* ConvertHours: AE =2 W&t
* s g
* S8 A" AUE =2 Hgtet £ */

public class ConvertHour

{
public static void main(String[] args) {

String s = JOptionPane.showInputDialog("AlE EHSIME.”);

int hours = Integer.parselnt(s);
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import javax.swing.¥*;

JOptionPane.showMessageDialog(null, "OA[X]");
\_ y

O HAX = EEd

o el EEIR| gsol R

O HFEE SETAZ Bt
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import javax.swing.*;
public class MakeChangeAgain {
public static void main(String[] args) {
String s = JOptionPane.showInputDialog("Type dollars, an integer:");
int dollars = Integer.parselnt(s);
if (dollars < @) {
JOptionPane.showMessageDialog(null, "MakeChangeAgain error: negative dollars: " + dollars);
ks
else { // dollars amount is acceptable, so process cents amount:
s = JOptionPane.showInputDialog("Type cents, an integer:");
int cents = Integer.parselnt(s);
if (cents < @) {

JOptionPane.showMessageDialog(null, "MakeChangeAgain error: negative cents: " + cents);
}
else {
if (cents > 99) {
JOptionPane.showMessageDialog(null, "MakeChangeAgain error: bad cents: " + cents);
ks

else { // dollars and cents are acceptable, so compute answer:
int money = (dollars * 100) + cents;

String output = " quarters = " + (money/25);
money = money % 25;
output = output + "\n dimes = " + (money/10);

money = money % 10;
output = output + "\n nickels
money = money % 5;

+ (money/5);

"

output = output + "\n pennies = " + money;
JOptionPane.showMessageDialog(null, output);
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import javax.swing.*
public class MakeChange {

public static void main(String[] args) {
boolean ok = true;
int dollars = getInt("=2{?");
int cents = getInt("HE?");
if (dollars < @)
{ showError(dollars + "= S=LICE."); ok = false; }
1f (cents < 0)
{ showError(cents + "= S+LICt."); ok = false; }
1f (cents > 99)
{ showError(cents + "7} 100 O|ARL|Ct."); ok = false; }

if (ok) { // Mz & LHO|L| AHLk= A= =27t

}




=zt (boolean)2| A ALKIE AEoIH RUHE 1S
CIAS

|_I-T'__ 7-I = 1 J\AE -

QAL O|= o|0|
LI_.:E_l_E_ true && true => true
El && E2 : . g false && E2 => false
conjunction (an ) El && false => false
=3|Et false || false => false
E1l || EZ2 o ) true || E2 => true
disjunction (or) E1 || true => true

B Ealq! !true => false

' negation (not) false => true
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import javax.swing.*;

public class MakeChange {

public static void main(String[] args) {
int dollars = getInt("&2{?");
int cents = getInt("ME?");
if (dollars < @ |l cents < @ || cents > 99)
showError(dollars + " Es= "
cents + "= ZZRE U=
o

o +

LICE. ")

else { // M2 FE UHOIL| HrZS A|ZSH Z777
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0| =2| QIAKH= THEJ|AMEICY

O ESAHIL (short-circuit evaluation)
O O|gk ALEXe| oF Z0F H 1 A= 2 4~ QIS [l CHE st 23 H|ASHER| &
A

A

rr

O JavaO|A =2|AAMAIZ 2IZZ0|A QLEZ O Z TR
O x<0 y<0

O x!=null && x.method() oF

x.method() && x!=null = Y& L2 EE FX| =L
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O twelveHourClock(16,5) == "2 4:05"
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/** twelveHourClock: 24A|IZINIE 12A|ZHAIZ HE
* @param hour - Al (0~23)

* @param minute - & (0~59)

* @return 12A1ZEM|l AlZE (EXFE) +/

public String twelveHourClock(int hour, int minute)

{
String answer = ""; // H©HEZ O0{7|C} =X ZO|Ct.
if ( hour < 0 || hour > 23 || minute < 0 || minute > 59 )
answer = "®2 2= " + hour + ":" + minute; // 2%
else {
if ( hour < 12 )
answer = answer + "% "; // 2H
else
answer = answer + "2%F "; /] =
if ( hour >= 13 ) // AZHOl 130|M0|H 12 = ZQIC},
answer = answer + (hour - 12);
else // 0~12Al2] 49 Oz =QlICt.
answer = answer + hour;
answer = answer + ":";
if ( minute < 10 ) // 20| stxj2[el 42 02 F7t
answer = answer + "0";
answer = answer + minute; // =22 =°ICt.
}

return answer;

}
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O =0 CHsH CrS1t 22 ZAE TiE0| X L=,
O 1if(x==0) ... else 1f (x==1) ... else 1if(x==2) ...

O Zg OEEAI N & = 8iE?

O LC&E Z71= switch
O switch(x) { case 0: ... case 1l: ... case 2: ... }
O "W HEY| ELCO
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switch =2| 21} o|o|7=x

switch (A ) » HAHAS HaLt 2x}
{ case u;: o N = A
HHE,; ... o U2 Ll EA} &=
b k; A
a2 o s otEICt
%:)'%'EZI ° o o ¢ 01|,25EE 'a|
eyt ores « E T E2 US I
case @f, : 04 Ot=IC}
HHE ; -
break;
default:
=t =]
SO pnt17
}
1. AMAZS AlLreict O 28-S vief SHAT.
lO|RE |2 vk seletel, w=sl Haig 8 Sl
3. vet 2 40| o™ defaulte| HHE, 2 F3USICL




O case 0|l= 22t £ = QUL

O if(x==1) ... else if (x==2) ... else if (x==3) FE{Zt switch
O = OHA| 7Hs

O H|WALKS & == Qi

O if(x<10) £ switch 222 | = 4 Q1L
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D switch(x) {
case O:

case 2:
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O 0|2] (exception
O 0|27} HdstH £52F SE0| #1710 &, Z=T12H0| S=o}
A =Ic}
O HHE off<lof Chek HIAIX[Z} S=H L.
O System.exit(0);
O HI2 Zz2=HS =F86IC

O return: EE= return <AIRMALS:
O HIZ2 HAEE =F3IC}
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import javax.swing.*;
public class MakeChange {

public static void main(String[] args) {
int dollars = getInt("&2{?");

int cents = getInt("HE?");
1f (dollars < @ ||l cents < @ || cents > 99)

showError(dollars + " E&= " +
cents + "= HZEE U=HAULICH.");
(@)

else { // Htiz = ¥HOL| Alts AXSH =717




e ——
0|2 ArEat EX

import javax.swing.*;
public class MakeChange {

public static void main(String[] args) {
int dollars = getInt("&2{?");
int cents = getInt("HE?");
1f (dollars < @ || cents < @ || cents > 99) {
String error = dollars + " E= " +
cents + "= EZRE L=HQULICEH ",

—_ = A1

throw new RuntimeException(error);

}

// M2 = UHOIL| AlMs AIEsl =277 (elseZt EQEAC)
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public String twelveHourClock(int hour, int minute)

{

String answer = ""; // ©E 07|C} FXg ZO|Ct,
if ( hour < 0 || hour > 23 || minute < 0 || minute > 59 )
answer = "®2 Q2% " + hour + ":" + minute; // 2F
else {
if ( hour < 12 )
answer = answer + "% . // QHE
else
answer = answer + "2% "; /] L=

if ( hour >= 13 ) // AlZtO| 130[|&0|H 128 =2 ZQIC},

answer = answer + (hour - 12);

else // 0~12A|2] 4% OiZ =QICt.
answer = answer + hour;

answer = answer + ":";

if ( minute < 10 ) // =0| etkt2|2l 42 02 F7t
answer = answer + "0";

answer = answer + minute; // =2 =2Ct

}

return answer;

}
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return= Ar2ol EX

/public String twelveHourClock(int hour, int minute)
{
String answer = ""; // ©E 0{7|C} FXg ZO|Ct.
if ( hour < 0 || hour > 23 || minute < 0 || minute > 59 )
return "®= 2T, " + hour + ":" + minute; // 22F
if ( hour < 12 )
answer = answer + "Q% ". // 2E
else
answer = answer + "2% "; /] @E
if ( hour >= 13 ) // A|ZtO] 130[|A0|H 121 = ZQICE,
answer = answer + (hour - 12);
else // 0~12A|2] AL Oz ZQICt.
answer = answer + hour;
answer = answer + ":";
if ( minute < 10 ) // =0| etki2[0l 42 02 F7t
answer = answer + "0";
answer = answer + minute; // =2 =2Ct
}
return answer;
}
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MyAccount: Deposit of $ 50.50
Current balance = $50.50
MyAccount: Withdrawal of $ 30.33

Current balance = $20.17
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s 2s T2 9| x1|9173,§/gr7g/—
BankReader |‘ AccountController
BankAccount |‘ BankWriter

A& HujEa




8%c>J_'|LI-E‘ 7:”}_|_9‘ MVC _JrAccountManager

main
BankReader ) AccountController
readCommandy(): char rocessTransactions()
readAmount(): int P
BankAccount ) BankWriter

public String account_name

vate int bal showTransaction(String
private int balance

message, int amount)
showTransaction(String
message)

deposit(int amount): boolean
withdraw(int amount): boolean
getBalance(): int




CsEiezZelaAwEs
HM|: class BankAccount (2 2)

X2

BankAccount (String name, 7;||7c|. O|§J_—'|' —10H
int initial balance) ==

A
==

public String account name ||Z}2| O|&

private int balance HZte| ZThot ()

HAE

getBalance(): int Ao = Hist

deposit (int amount): amount?} 2F=0[H Az} Zrlof| LS}, Z0l H3
boolean 5tH true, OFL|™ falseS gt

withdraw (int amount): amount’| 2F=0|™ 7|z} ZHHO|| A WL, SZ0f| 84S
boolean St true, AZt7F 255A HIlsHH falseE Phet
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BankAccount 2E, ‘Xt getBalance

-
public class BankAccount {

public String account_name;
private int balance;

public BankAccount(String name, int initial_amount) {
account_name = name;
1f (initial_amount >= 0)
balance = initial_amount;

else
balance = 0;
) M HAE ( :
ic o mo M= (getter):
public int getBalance() { L 7S oly|ot gfh A
return balance; =— m=E a1/l Ol Hila=—

h
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BankAccount.deposit

-

public boolean deposit(int amount) {

boolean result = false;
1f (amount < @)

JOptionPane.showMessageDialog(null,

"AXE o2t BARILICE. ")

else {

balance = balance + amount;

result = true;

}
return result; H4Z—§' | E(setter)'
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BankAccount.withdraw

-

public boolean withdraw(int amount) {
boolean result = false;
1f (amount < @)
JOptionPane.showMessageDialog(null,
"HRE SZ0|2t FARLICH. ")
else 1f (amount > balance)
JOptionPane.showMessageDialog(null, "Ztn7p EF§HCE");
else {
balance = balance - amount;
result = true;

}

return result;
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HAM|: class BankReader (2 &)

4
private String 2|20] i2{E Yol
input line
M=
readCommand (String LS I HHOE U= Br=C ==
message): char W20{2| HBAIS IS
2|20 Y= SFE0M HR=AE FMelet 2
readAmount (): int A xx.yyE 222 sHAM M HEZ Hslst
01 £t3l
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BankReader.readCommand

-

import javax.swing.*;

public class BankReader {

private String input_line = "";

public char readCommand(String message) {
input_line = JOptionPane.showInputDialog(message).
toUpperCase();
return input_line.charAt(0);




CseiezeaduMwE
BankReader.readAmount

-
{

public int readAmount()

int answer = 0;
String s = input_line.substring(l, input_line.length());
1f(s.length() > @) {
double dollars_cents = new Double(s).doubleValue();
answer = (int)(dollars_cents*100);
by
else

JOptionPane.showMessageDialog(null,
"FAS UEHSIK| ZoF 022 H2|L|CEH. "),

return answer;
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HM|: class BankWriter (21 &)
2SI,
ié;mkWriter (BankAccount SENAH|E bol| T3 21 2 LA
25

private BankAccount bank |O]

private String

= 22| AKX

last transaction = 12H2] TIAK]

|~ =

showTransaction (String HIA[X (message)Qf :LOH(amount)Oﬂ
message, int amount) 8-%% |:L 7-|E|-|E Q_l-D:lO'” =<E=I
showTransaction (String HA[X (message)Oil sliEst= =2 el
message) = stHoj| =4

45 stofCist W ERICA ZEE{28t}
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4 )

import java.text.*;
public class BankWriter {
private BankAccount bank;
private String last_transaction = "";
public BankWriter(BankAccount b) { bank = b; }
private String unconvert(int 1) {
return new DecimalFormat("0.00").format(1/100.0);

}

public void showTransaction(String message, int amount)

{ last_transaction = message + " " + unconvert(amount);
System.out.println(bank.account_name + ": " + last_transaction);
System.out.println("Current balance = $" +

unconvert(bank.getBalance()));

¥

public void showTransaction(String message) {
last_transaction = message;

System.out.println(bank.account_name +

\ : Y

+ last_transaction);
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M M|: class AccountController (HX{7])

A

AccountController
(BankReader r, BankWriter [ofZ Q=2 AHKHE =7|S
w, BankAccount b)

=

BankReader reader U= H

BankWriter writer =

BankAccount account RaEl- 230 A X}

H| A~ =
siLto| H2HE AdEICt Z2 Paof)

processTransactions () O|=|E=|E|x| _I-E %_?_ |:|-A| 7—|EHE _I_; ol
Cl
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AccountController

-

public class AccountController {
private BankReader reader;
private BankWriter writer;
private BankAccount account;

public AccountController(BankReader r, BankWriter w,
BankAccount a) {

reader = r;
account = a;
writer = w;




AccountController.processTransactions

public void processTransactions()
{
char command = reader.readCommand("d& D/W/Q2t 2HE =sIML.");
switch (command) {
case 'Q':
return;
case 'D':
{ int amount = reader.readAmount();
if (account.deposit(amount)) writer.showTransaction("&= $", amount);

else writer.showTransaction("2 2% ", amount);
break;
case 'W':

{ int amount = reader.readAmount();
if (account.withdraw(amount)) writer.showTransaction("&=2 $", amount);

else writer. showTransactlon("*:152§-", amount);
break;

default:
writer.showTransaction("&2= H&E " + command);

this.processTransactions();
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7S class AccountManger

4 A

public class AccountManager {

public static void main(String[] args)

{ // create the application's objects:
BankReader reader = new BankReader();
BankAccount account = new BankAccount(“myaccount”,0);
BankWriter writer = new BankWriter(account);
AccountController controller =

new AccountController(reader, writer, account);

// start the controller:
controller.processTransactions();
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Secondary account: Inactive

Primary account: Active

Primary account: Deposit of $ 50.50
Current balance = $50.50
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AccountController2

-

public class AccountController2 {
private BankReader reader; // input view
private BankAccount primary_account, secondary_account, account;
private BankWriter primary_writer, secondary_writer, writer;

public AccountController2 (BankReader r, BankAccount al,
BankWriter wl, BankAccount a2, BankWriter w2) {

reader = r;
primary_account = al;
primary_writer = wl;
secondary_account = a2;
secondary_writer = wZ;
account = primary_account;
writer = primary_writer;
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AccountController2.resetAccount

-

public void resetAccount (BankAccount new_account,
BankWriter new_writer) {
writer.showTransaction("H[ZAH");
account = new_account;
writer = new_writer;
writer.showTransaction("&X4");




AccountController2.processTransactions

-

public void processTransactions()
{
char command =
reader.readCommand("d& P/S/D/W/Q2t 22 SN, ");
switch (command) {
case 'P':
resetAccount(primary_account, primary_writer);
break;
case 'S':
resetAccount(secondary_account, secondary_writer);
break;

j..

this.processTransactions();

I3
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& class AccountManager2

4 R

public class AccountManager2 {
public static void main(String[] args)
{ // create the application's objects:
BankReader reader = new BankReader();
BankAccount primary_account = new BankAccount(0);
BankWriter primary_writer =
new BankWriter("#Z#1", primary_account);
BankAccount secondary_account = new BankAccount(Q);
BankWriter secondary_writer =
new BankWriter("#ZH#2", secondary_account);
AccountController controller =
new AccountController(reader, primary_account, primary_writer,
secondary_account, secondary_writer);
controller.processTransactions();

}




O 2| (exception), Bt2t (return), System.exit

O RZE-H-H07] (MVC) +1=
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